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>>?>4G. &>F, GLO ?44>=L >>47O645FEO 65DE=5= 
(?>E?54=5=), 55DUF =4 DG>G 2 >4DFO <7 >>?>4O.

�4ED4?<= 4 E?54GNM<= <7D>> ?D>?GE>45F E6>= E>4.

�5D5EDN> 4 MF4 >4DF4 <5=O5F =4?D46?5=<5 <7DO. 
�7D4 44?55 ?D>4>?645FEO 6 >5D4F=>< =4?D46?5=<< 4 
?D>F<6 G4E>6>= EFD5?><. �E?< 5G45F EO7D4=4 5MU >4=4 >4DF4 
«�5D5EDN>», F> <7D4 ?>=45F >?OFL ?> G4E>6>=, < F4> 44?55.



7

7

�>GG 4 ED47G ?>E?5 F>7>, >4> <7D>> 6O?>6<? MFG >4DFG, 
>= 4>?65= E45?4FL >4=> <7 E?54GNM57>:

�) 6O5<D45F >4=G <7 FDUE >F>DOFOE >4DF 6O>DGF4E>6 
=4 EF>?5 < 44UF 5U ?N5><G E>?5D=<>G, 4 74F5< >F>DO645F 
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<7 FDUE >F>DOFOE <?< 4DG7>7> E>?5D=<>4. 
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